N4 Maths E+F 1-1b Worksheet 3
Outcome 1 - Factorising with Outcome 2 - Factorising with
a numerical common factor the common factor as a letter
Factorise the following expressions.. Factorise the following expressions.. -
L 7x+21 2 57 —45 & x¥*+8 & p*-3p
o 722440 4 80b—70 w 22m+m’ & Tk-k |
& 63y—18 g 121t-11 & s3-9s2 S 6b2+b

Outcome 3 - Factorising
with the common factor
as a letter and a number

Fully factorise the
following expressions...

L 2x% +4x & 5¢%+15q < 24t2% — 16t

& 2h3 +12n% & 27d3 — 72d? 8 9e? + 6e3
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